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L Cd sl
Lo b 8 Bl oo ool pls ddl oo Cod S0 35 Cd &S Ls O
Sl asls |y 5 Aoy 5 uuT ju
[ann, tennis, tom, skiing] =
.(ann, .(tennis, .(tom, .(skiing, [])) ) )
[skiing] = .(skiing, []) :
RN
ann .
RN
tennis .
N
om .
RN

skiing [ ]

t



L S o e

syl e

?- Hobbies1 = .(tennis, .(music, []) ),
Hobbies2 = [skiing, food],
L= [ann, Hobbies1, tom, Hobbies2].
Hob!
Hobl

L:

vbied = fennis, music |
v1ef = fkiing, food |

‘ann, [tennis, music], tom, [skiing, food] ]
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L S o e

il oo sl et S
L=]a,b,c]
e 52 ol (o
Tail =[b, ¢], L=.(a, Tail)
:Jii.s uij)
L = [a] Tail]
&S sk

[a, b, c] =[a] [b, c] ] = [a, b] [c] | = [a, b, c[[] ]
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o g2e fos gilw el

member( X, L)

member( X, [X| Tail] ).
member( X, [Head| Tail] ) :-
member( X, Tail).

10
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L Cd gy Slhas

?- member( b, [a, b, c]).
yes
?- member( b, [a, [b, c] ]).
no
?- member( [b, c], [a, [b, c] ] ).
yes
?- member( X, [a, b] ).
X =a;
X =Db;
no

‘Jle @
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conc( L1, L2, L3)

conc( [], L, L).

conc( [X]| L1], L2, [X| L3]) :-

conc( L1, L2, LL3).

L Cd gy Slhas

b Cwd Jlail fes (g5l ooly

[X| L1]
X L1 L2
-
L3
X L3
SN—
g

[X] L3]
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L Cd gy Slhas

?- conc( [a, b, c],[1 ,2,3] , L).
L=][a,b,c,1,1,2,3]
?-conc(L1,L2,[ a, b, c]).

L1=]]
L2=1]a,b,c];
L1=|[a]

L2 =[b, c];
L1=[a, b]
L2 ={c];
L1=]a,b,c]
L2 =];

no

Jla
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L Cd gy Slhas

?- conc( Before, [may| After],
[jan, feb, mar, apr, may, jun, jul, aug, sep, oct, nov, dec] ).
Before = [jan, feb, mar, apr]

After = [jun, jul, aug, sep, oct, nov, dec]

?- conc( _, [MI1, may, M2| ],
[jan, feb, mar, apr, may, jun, jul, aug, sep, oct, nov, dec] ).
M1 = apr
M2 = jun

memberl( X, L) :-
conc(L1, [X, L2], L).

‘Jle

14
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wq%&fa&&&:ﬂété\ °

add( X, L, [X| L] ).

?-add( a, [b, c], L).
L =1Ja,b,c]

‘Il

15



del( X, L, L1)

del( X, [X]| Tail], Tail).
del( X, [Y| Tail], [Y]| Taill] ) :-
del( X, Tail, Taill).

16
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b 1o "yoogs red ‘mww

?- del( a, [a, b, a, a], L).
L =[b, a, a];
=[a, b, a];
= [a, b, a];
no
13 go3 03lizul of s3eds OIKe J3 Wl aie 03 S 6lSl gl » Ols e del )
?-del(a, L, [1,2,3]).
L =[a, 1,2,3];
=1, a, 2,3];
=11,2,a, 3];
=11,2,3,a |;
no

17
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L Cd gy Slhas

CJ)M ‘JLISt )‘ Ls.:&o )JX C)J JA.G Q‘}? L.S"Q L_;lfjjb 4.:
'ala r\z-." J‘.’.J
insert( X, List, BiggerList) :-
del( X, BiggerList, L).
:del 4.17»‘3.: C—*U*”—“ J.«.“— L;)Lw a.bl...‘.g:
member2( X, L) :-
del( X, L, ).

18
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L Cd gy Slhas

1 5 Joo G5l ety 0
sublist( S, L) :-
con¢ L1,L ,L),
con¢ S, L3, L2).
tJ s

?- sublist( [c, d, ¢], [a, b, c, d, €] ).
yes
?- sublist( [c, €], [a, b, ¢, d, €] ).

no

19
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L Cd gy Slhas

PRUIEL N
permutation([], [])-
permutation( [X| L], P) :- X L
permutation( L, L1), l sermute L
insert( X, L1, P). / pE -
insert X

L1

20
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L Cd gy Slhas

?- permutation( [r, b, g], P).

=[r, b, gl;
=[r, g, b];

P=1[b, 1, g];

P=1b, g, r];

P=[g,r, b];
=g, b, r];

no

‘Jlie @
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L Cd gy Slhas

*»

B o

S 5 035 wsSas 6l 1y reverse( L1, L2) b,
S e

oLl e os > cas gl 1, shift( L1, L2) ak,
S L S o e 4 ol g S 01

S LS Cum ol 68 o 1, palindrome( L) akl,
b G sle 0T oS LL LT S Jatee
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ad d s
-g !
G :
P X
v'::ﬂha? /

Ol g XX
oilesl, mod
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-X=1+2.
X=1+2

7-X1is 1 + 2.
X=3

?- X 18 5/2,
Y 1s 5//2,
Z 1S 5 mod 2.
X=2.5
Y=2
Z=1

Ls"é\:’.) Q\:,l.‘,.a

sin( X), cos( X), atan( X), log( X), exp( X) : 2L, Bls F

24
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by Slles

o aaly s Shes @

&2 Ao
Ao X>Y
Sess X<Y

Soles b L 55 X>=Y

Ssber b ;S 58 X=<Y
S 9luns X ==
bl X=/=Y

25
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2-1+2==2+1.
yes

2-1+2=2+1
no

7-1+A=B+2.
A=2
B=1

2-27F3F 10000
yes

?- born( Name, Year),
Year >= 1980,
Year =< 1990.

u«é\-’{) Q\:.l.o&
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u«é\-’{) Q\:.l.o&

Y XJ WCMJ;)J;MBLA Jlie @
D=X.&TX=Y 5 -
Y-X X”ubw‘j\,Da&mX<Y;‘—
Y waumijfjbdb-wbo&\cx>Y;‘—
gcd( X, X, X).
gcd( X, Y, D) :-
X <Y,
YlisY—X,
gcd( X, Y1, D).
gcd( X, Y, D) :-
Y <X,
gcd( Y, X, D).

27
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L;é\-i) CJ\:L».G

o J g dcwloes 1 Jls @

length( [], 0).

length( [ | Tail], N) :-
length( Tail, N1),
Ni1s NI + 1.

?- length( [a, b, [c, d], €], N).
N=4

28
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L;é\-i) CJ\:L».G

factorial( 0, F: - Fis 1.
factorial( N, F) :-
N >0,
N1 1sN -1,
factorial(N1, F),
Fis N* F1.

?- factorial( 5, K
F=120

N&);ﬁfb%l}ﬂd\lﬁ ¢
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g™

S A8 Caum ol 68 4 1, maxlist( List, Max) akal, -
> 9i List sue o 855 ldae o, Max

Coyse 33 &S AS (¢l &8 4 |, ordered( List) akl, -¥
Sl yd S sl 05 0 LI

S polie § gozes drusloes (5l |, sumlist( List, Sum) alf, -¥
S
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Partition

=P

\Sort

31
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quickSort([ ], [ ]).

quickSort( [P | T], Y) :- partition( T, P, L, B),
quickSort( L, SortLow), quickSort( B, SortB1g),
append( SortLow, [P | SortBig], Y).

partition([ , P, [ ], [ ]).

partition( [H | T], P, [H| L], B) :-
H <P, partition( T, P, L, B).

partition( [H | T], P, L, [H | B]) :-
H >= P, partition( T, P, L, B)

32



b 1o "yoogs red ‘mww

NFA4 & g5l s

accept( W) :-

start( S), path( S, W).
path( S, [ ]) :-

final( S).
path( S, [H | T]) :-

arc( S, H, N), path( N, T).

33
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NFA & il 4

start(1).

final(3).

arc(1, a, 1).

arc(1, b, 2).

arc(1, b, 3). start
arc(2, b, 3).

arc(3, a, 3).

2- accept( [a, b, a]).
yes

34
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Sl sl
(Towers of Hanoi)

Q%W@)‘Lé@ﬁ)bc%«ﬁbdu}a‘ddﬁ ¢
Al o Loy dls KL sl S dhs

&.LS)J‘)J;‘?)J’&“{.J&.Q‘,)SWLS‘J"]‘@AJJ ¢
.>$>)\J§J:§g-j§d§*«is
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SH sle
(Towers of Hanoi)

hanoi(1, X, Y, Z) :-
write(* Move top disk from ), write( X),
write(‘ to ’), write( Y), nl.

hanoi( N, X, Y, Z) :-
N>1,Mi1s N-1, hanoi( M, X, Z, Y),
hanoi(1, X, Y, Z), hanoi( M, Z, Y, X).

?- hanoi(3, left, right, middle).
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Sola lg>

(Towers of Hanoi)

?- hanoi(3, left, right, middle).

Move top ¢
Move top ¢
Move top ¢
Move top ¢
Move top ¢
Move top ¢

1sk from left to right
1sk from left to middle
1sk from right to middle
1sk from left to right
1sk from middle to left
1sk from middle to right

Move top ¢

1sk from left to right
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